

BID COMPARISON SPREADSHEET

**BID NUMBER - PURCH 2015-094
TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL**

Bidding Firm	R1-1 Stop Sign (DG) 30" x 30"			R1-1 Stop Sign (DG) 36" x 36"			R1-2 Yield (DG) 30" x 30 "x 30"			R1-2 Yield (DG) 36" x 36" x 36"			R1-3 3-Way Plate 12" x 6"			R1-4 4-Way Plate 12" x 6"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$43.10	50	\$2,155.00	\$62.20	50	\$3,110.00	\$22.25	20	\$445.00	\$28.54	20	\$570.80	\$3.10	20	\$62.00	\$3.10	20	\$62.00
Shannon-Baum Signs, Inc.	\$68.00	50	\$3,400.00	\$99.00	50	\$4,950.00	\$35.00	20	\$700.00	\$49.00	20	\$980.00	\$6.00	20	\$120.00	\$6.00	20	\$120.00

Bidding Firm	R1-4 All Way Plaque 18" x 6"			R1-6A Cross Walk 12" x 36"			R2-1: 25 MPH 18" x 24"			R2-1: 25 MPH 24" x 30"			R2-1: 30 MPH 18" x 24"			R2-1: 30 MPH 24" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$3.72	20	\$74.40	\$13.29	10	\$132.90	\$13.29	50	\$664.50	\$22.19	50	\$1,109.50	\$13.29	50	\$664.50	\$22.19	50	\$1,109.50
Shannon-Baum Signs, Inc.	\$8.00	20	\$160.00	\$18.00	10	\$180.00	\$18.00	50	\$900.00	\$30.00	50	\$1,500.00	\$18.00	50	\$900.00	\$30.00	50	\$1,500.00

Bidding Firm	R2-1: 35 MPH 18" x 24"			R2-1: 35 MPH 24" x 30"			R2-1: 40 MPH 24" x 30"			R2-1: 45 MPH 24" x 30"			R2-1: 50 MPH 24" x 30"			R2-1: 55 MPH 24" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$13.29	50	\$664.50	\$22.19	20	\$443.80	\$22.19	50	\$1,109.50	\$22.19	20	\$443.80	\$22.19	20	\$443.80	\$22.19	10	\$221.90
Shannon-Baum Signs, Inc.	\$18.00	50	\$900.00	\$30.00	20	\$600.00	\$30.00	50	\$1,500.00	\$30.00	20	\$600.00	\$30.00	20	\$600.00	\$30.00	10	\$300.00

BID COMPARISION SPREADSHEET

Page 2

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	R2-5A - Reduced Speed Ahead 24" x 30"			R2-5C Speed Zone Ahead 24" x 30"			R3-1: No Right Turn (Symbolic) 24"x24"			R3-2: No Left Turn (Symbolic) 24" x 24"			R3-4: No U-Turn (Symbolic) 24" x 24"			R3-5A Only HIP B/W 30" x 36"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$22.19	10	\$221.90	\$22.19	10	\$221.90	\$18.29	20	\$365.80	\$18.29	20	\$365.80	\$18.29	10	\$182.90	\$33.27	10	\$332.70
Shannon-Baum Signs, Inc.	\$30.00	10	\$300.00	\$30.00	10	\$300.00	\$24.00	20	\$480.00	\$24.00	20	\$480.00	\$24.00	10	\$240.00	\$45.00	10	\$450.00

Bidding Firm	R3-5L/R Left/Right Only 30" x 36"			R3-6L/R Opt Left/Right Turn 30" x 36"			R3-6LS Opt Left/Straight 30" x 36"			R3-6RS Opt Right/Straight 30" x 36"			R3-7C: Lane Use Control (Center Must Turn Left) 30" x 30"			R3-7L/R: Left/Right Lane Must Turn Left - 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$33.27	10	\$332.70	\$33.27	10	\$332.70	\$33.27	10	\$332.70	\$33.27	10	\$332.70	\$27.69	10	\$276.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$45.00	10	\$450.00	\$45.00	10	\$450.00	\$45.00	10	\$450.00	\$45.00	10	\$450.00	\$37.00	10	\$370.00	\$37.00	10	\$370.00

Bidding Firm	R3-8: Lane Use Control (2 Lanes) 30" x 30"			R3-9A: Two-Way Left Turn Only 30" x 36"			R3-9B: Center Lane Left Turn Only 24" x 36"			R4-7: Keep Right (Symbolic) 24" x 30"			R4-7A: Keep Right HIP B/W 24" x 30"			R4-7B: Keep Right (w/30 Degree Arrow) 24" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$33.27	10	\$332.70	\$26.59	10	\$265.90	\$22.19	20	\$443.80	\$22.19	10	\$221.90	\$22.19	20	\$443.80
Shannon-Baum Signs, Inc.	\$37.00	10	\$370.00	\$45.00	10	\$450.00	\$36.00	10	\$360.00	\$30.00	20	\$600.00	\$30.00	10	\$300.00	\$30.00	20	\$600.00

BID COMPARISION SPREADSHEET

Page 3

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	R4-7B Keep Right 24" x 30"			R4-8-3: Keep Left (w/30 Degree Arrow) 24" x 30"			R4-18 Keep Off Shoulder 30" x 30"			R5-1 Do Not Enter (DG) 30" x 30"			R6-1L/R: One Way (Left/Right) 36" x 12"			R6-2L/R: One Way (Left/Right) 18" x 24"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc.¹	\$22.19	10	\$221.90	\$22.19	20	\$443.80	\$27.69	10	\$276.90	\$43.86	20	\$877.20	\$13.29	20	\$265.80	\$13.29	20	\$265.80
Shannon-Baum Signs, Inc.	\$30.00	10	\$300.00	\$30.00	20	\$600.00	\$37.00	10	\$370.00	\$69.00	20	\$1,380.00	\$18.00	20	\$360.00	\$18.00	20	\$360.00

Bidding Firm	R6-3 Divided Highway 24" x 18"			R6-3A Divided Highway 24" x 18"			R7-1: No Parking Any Time 18" x 24"			R7-1L/R/D: No Parking Any Time (L/R/D) 18" x 24"			R7-2A: No Parking (Symbol with Time) 12" x 18"			R8-31: No Parking Fire Lane 12" x 18"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc.¹	\$13.29	10	\$132.90	\$13.29	10	\$132.90	\$13.29	40	\$531.60	\$13.29	40	\$531.60	\$6.41	40	\$256.40	\$6.41	10	\$64.10
Shannon-Baum Signs, Inc.	\$18.00	10	\$180.00	\$18.00	10	\$180.00	\$18.00	40	\$720.00	\$18.00	40	\$720.00	\$16.00	40	\$640.00	\$16.00	10	\$160.00

Bidding Firm	R7-4LR/D: No Stop Or Stand (L/R/D) 12"x 18"			R7-8: Reserved Parking (w/Handicap Symbol) 12" x 18"			R7-8: No Loitering at Any time (Red on White) 12" x 18"			R7-8A Van Accessible 12" x 9"			R7-107BR: No Parking Bus Stop 12" x 24"			R-8-1: No Parking on Pavement 24" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc.¹	\$6.41	10	\$64.10	\$6.41	10	\$64.10	\$6.41	10	\$64.10	\$4.51	10	\$45.10	\$8.76	10	\$87.60	\$22.19	10	\$221.90
Shannon-Baum Signs, Inc.	\$16.00	10	\$160.00	\$16.00	10	\$160.00	\$16.00	10	\$160.00	\$12.00	10	\$120.00	\$12.00	10	\$120.00	\$30.00	10	\$300.00

BID COMPARISION SPREADSHEET

Page 4

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	R8-3A: No Parking (Symbol) 24" x 24"			R8-4 Emergency Parking 30" x 24"			R8-7: Emergency Stopping Only 30" x 24"			R11-2 Road Closed 48" x 30"			R11-2-1 Bridge Closed 48" x 30"			R11-3A: Road Closed Local Traffic Only 60" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$18.29	40	\$731.60	\$22.19	10	\$221.90	\$22.19	10	\$221.90	\$44.28	10	\$442.80	\$44.28	10	\$442.80	\$55.32	10	\$553.20
Shannon-Baum Signs, Inc.	\$24.00	40	\$960.00	\$30.00	10	\$300.00	\$30.00	10	\$300.00	\$60.00	10	\$600.00	\$60.00	10	\$600.00	\$75.00	10	\$750.00

Bidding Firm	R11-3B: Bridge Out Local Traffic Only 60" x 30"			R11-4: Road Closed to Thru Traffic 60" x 30"			R12-1 Weight Limit 12" x 18"			R12-5 Weight Limit w/Tons 30" x 36"			R12-5 Weight Limit w/Tons 24" x 30"			R14-1 Truck Route 24" x 18"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$55.32	10	\$553.20	\$55.32	10	\$553.20	\$6.41	5	\$32.05	\$33.27	5	\$166.35	\$22.19	5	\$110.95	\$13.29	5	\$66.45
Shannon-Baum Signs, Inc.	\$75.00	10	\$750.00	\$75.00	10	\$750.00	\$16.00	5	\$80.00	\$65.00	5	\$325.00	\$32.00	5	\$160.00	\$20.00	5	\$100.00

Bidding Firm	W1-1 L/R Left/Right Turn 30" x 30"			W1-2L/R Left/Right Curve 30" x 30"			W1-3 L/R: Left/Right Reverse Turn 30" x 30"			W1-4L/R: Left/Right Reverse Curve 30" x 30"			W1-5L/R: Left/Right Winding Road 30" x 30"			W1-6 Large Single Arrow 48" x 24"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$35.41	1	\$35.41
Shannon-Baum Signs, Inc.	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$52.00	1	\$52.00

BID COMPARISION SPREADSHEET

Page 5

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	W1-7 Large Double Arrow 48" x 24"			W1-8: Chevron Alignment (FYG) 18" x 24"			W1-8: Chevron Alignment (FYG) 30" x 30"			W2-1 Cross Road 30" x 30"			W2-2 Side Road 30" x 30"			W2-3L/R: 45 Degree Side Road Left/Right 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$35.41	1	\$35.41	\$22.37	1	\$22.37	\$46.60	1	\$46.60	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$27.69	1	\$27.69
Shannon-Baum Signs, Inc.	\$52.00	1	\$52.00	\$40.00	1	\$40.00	\$80.00	1	\$80.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00

Bidding Firm	W2-4 T Symbol 30" x 30"			W2-5 Y Symbol 30" x 30"			W2-6: Round About Symbol 30" x 30"			W2-6: Round About Symbol 36" x 36"			W3-1A Stop Ahead (Symbolic) 30" x 30"			W3-1A Stop Ahead (Symbolic) 36" x 36"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$27.69	1	\$27.69	\$39.82	1	\$39.82	\$30.19	1	\$30.19	\$43.39	10	\$433.90
Shannon-Baum Signs, Inc.	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$40.00	1	\$40.00	\$60.00	1	\$60.00	\$45.00	1	\$45.00	\$65.00	10	\$650.00

Bidding Firm	W3-2A: Yield Ahead (Symbolic) 30" x 30"			W3-2A: Yield Ahead (Symbolic) 36" x 36"			W3-3 Signal Ahead 30" x 30"			W3-3 Signal Ahead 36" x 36"			W3-5: Speed Reduction Symbol 36" x 36"			W3-5: Speed Reduction Symbol 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$30.19	10	\$301.90	\$43.39	10	\$433.90	\$28.52	10	\$285.20	\$41.12	10	\$411.20	\$39.92	5	\$199.60	\$27.72	5	\$138.60
Shannon-Baum Signs, Inc.	\$40.00	10	\$400.00	\$58.00	10	\$580.00	\$40.00	10	\$400.00	\$58.00	10	\$580.00	\$58.00	5	\$290.00	\$40.00	5	\$200.00

BID COMPARISION SPREADSHEET

Page 6

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	W4-1L/R Merger Left/Right 30" x 30"			W4-2R: Pavenment Width Transition 36" x 36"			W4-2R Right Lane Ends 36" x 36"			W4-3L/R Left/Right Added Lane - 36" x 36"			W5-1 Road Narrows 30" x 30"			W5-2 Narrow Bridge 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$39.87	10	\$398.70	\$39.87	10	\$398.70	\$39.87	10	\$398.70	\$27.69	10	\$276.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$38.00	10	\$380.00	\$55.00	10	\$550.00	\$55.00	10	\$550.00	\$55.00	10	\$550.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00

Bidding Firm	W5-2A: Narrow Bridge (Symbolic) 30" x 30"			W6-1 Divided Highway Ends (36" x 36")			W6-3 Two-Way Traffic 30" x 30"			W7-1 Hill Sign 30" x 30"			W7-1b (10) Pictured HIP B/Y 30" x 30"			W8-2 DIP HIP B/Y 30" X 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$39.87	10	\$398.70	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$38.00	10	\$380.00	\$55.00	10	\$550.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00

Bidding Firm	W8-3A: Pavement Ends (Symbolic) 36" x 36"			W8-3 Pavement Ends 30" x 30"			W8-4 Soft Shoulder 30" x 30"			W8-5 Slippery When Wet 30" x 30"			W8-18 Road May Flood 30" x 30"			W9-1L/R: Left/ Right Lane Ends 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$39.87	5	\$199.35	\$27.69	5	\$138.45	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$55.00	5	\$275.00	\$38.00	5	\$190.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00	\$40.00	10	\$400.00

BID COMPARISION SPREADSHEET

Page 7

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	W9-2L/R: Lane Ends Merge Left/Right 30" x 30"			W11-1 Bicycles 30" x 30"			W11-2 Pedestrian Area (FYG) 30" x 30"			W11-3 Deer Crossing 30" x 30"			W11-4 Cattle Crossing 30" x 30"			W11-5 Tractor 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$27.69	5	\$138.45	\$46.60	10	\$466.00	\$27.69	10	\$276.90	\$27.69	5	\$138.45	\$27.69	5	\$138.45
Shannon-Baum Signs, Inc.	\$40.00	10	\$400.00	\$40.00	5	\$200.00	\$69.00	10	\$690.00	\$40.00	10	\$400.00	\$40.00	5	\$200.00	\$40.00	5	\$200.00

Bidding Firm	W11-7 Equestrian 30" x 30"			W11-8 Fire Station 36" x 36"			W11-9 Wheel Chair 30" x 30"			W11-9: Hearing Impaired Child 30" x 30"			W11-10: Truck Crossing (Symbolic) 30" x 30"			W15-1 Play Ground 36" x 36"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$39.87	10	\$398.70	\$27.69	5	\$138.45	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$39.87	10	\$398.70
Shannon-Baum Signs, Inc.	\$40.00	10	\$400.00	\$54.00	10	\$540.00	\$40.00	5	\$200.00	\$40.00	10	\$400.00	\$40.00	10	\$400.00	\$55.00	10	\$550.00

Bidding Firm	W15-1 Play Ground 30" x 30"			W16-1 Share the Road 24" x 30"			W16-1: Share the Road (MOD) 30" x 30"			W16-1: Share the Road HIP B/Y (MOD) 30" x 30"			W16-1: Share the Road (MOD) 24" x 24"			W16-1: Share the Road HIP B/Y (MUTCD) 18" x 24"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$22.19	10	\$221.90	\$27.69	5	\$138.45	\$27.69	5	\$138.45	\$17.72	5	\$88.60	\$13.29	5	\$66.45
Shannon-Baum Signs, Inc.	\$40.00	10	\$400.00	\$30.00	10	\$300.00	\$40.00	5	\$200.00	\$40.00	5	\$200.00	\$25.00	5	\$125.00	\$20.00	5	\$100.00

BID COMPARISION SPREADSHEET

Page 8

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	W13-1 10 mph- 40 mph 24" x 24"			W13-1 10 mph - 40 mph 30" x 30"			W14-1 Dead End 30" x 30"			W14-2 No Outlet 30" x 30"			W14-2: Watch for Pedestrians 36" x 36"			W14-2 No Outlet w/o Arrow 18" x 10"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$17.72	10	\$177.20	\$27.69	50	\$1,384.50	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$39.87	10	\$398.70	\$5.53	10	\$55.30
Shannon-Baum Signs, Inc.	\$24.00	10	\$240.00	\$38.00	50	\$1,900.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00	\$55.00	10	\$550.00	\$18.00	10	\$180.00

Bidding Firm	W14-8 New Traffic Pattern 30" x 30"			W15-1 Playground Sign (FYG) 30" x 30"			W15-1 Playground words lines) 30" x 12"			OM-3C: Roundabout Chevron (YIW w/black lines) 36" x 12"			OM-3C: To Traffic on Left (black on white) 36" x 24"			W16-1 Duck Crossing 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$46.60	10	\$466.00	\$18.64	10	\$186.40	\$13.29	10	\$132.90	\$26.59	10	\$265.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$38.00	10	\$380.00	\$69.00	10	\$690.00	\$30.00	10	\$300.00	\$20.00	10	\$200.00	\$38.00	10	\$380.00	\$38.00	10	\$380.00

Bidding Firm	W16-1 Hazard marker 18" x 18"			W16-1-1 End of Road Marker 18" x 18"			W16-2L/R: Left/Right Clearence Marker (OM-3L) 12" x 36"			W16-6 High Water 16" x 16"			W16-7P Diagonal Arrow (FYG) 24" x 12"			W16-8: Advanced Street Name Plaque - 36" x 12"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$10.92	10	\$109.20	\$10.92	10	\$109.20	\$13.29	10	\$132.90	\$39.87	10	\$398.70	\$14.91	10	\$149.10	\$13.29	10	\$132.90
Shannon-Baum Signs, Inc.	\$20.00	10	\$200.00	\$20.00	10	\$200.00	\$20.00	10	\$200.00	\$55.00	10	\$550.00	\$25.00	10	\$250.00	\$20.00	10	\$200.00

BID COMPARISION SPREADSHEET

Page 9

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	W16-12: Traffic Circle Plaque 24" x 18"			W17-1 Speed Hump HIP B/Y 30" x 30"			W41-1 Border Only HIP B/Y 30" x 30"			W42-8 Hidden Entrance 30" x 30"			W42-8 Handicap Child 24" x 24"			D4-1Parking (Green on White) 18" x 15"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$13.29	10	\$132.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$17.72	10	\$177.20	\$9.12	10	\$91.20
Shannon-Baum Signs, Inc.	\$20.00	10	\$200.00	\$39.00	10	\$390.00	\$39.00	10	\$390.00	\$39.00	10	\$390.00	\$25.00	10	\$250.00	\$18.00	10	\$180.00

Bidding Firm	D4-1AR - Parking w/ Arrow (Green on White) 18" x 15"			D4-1AR - Reserved Visitors (Green on White) 18" x 15"			S1-1: School Advance Sign (FYG) 30" x 30"			S1-1: School Advance Sign (FYG) 36" x 36"			S1-1 School Bus Crossing 30" x 30"			S3-4: School Bus Turn Around 30" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$9.12	10	\$91.20	\$9.12	10	\$91.20	\$43.69	10	\$436.90	\$62.91	10	\$629.10	\$27.69	10	\$276.90	\$27.69	10	\$276.90
Shannon-Baum Signs, Inc.	\$18.00	10	\$180.00	\$18.00	10	\$180.00	\$69.00	10	\$690.00	\$99.00	10	\$990.00	\$39.00	10	\$390.00	\$39.00	10	\$390.00

Bidding Firm	S3-1: School Bus Stop Ahead 30" x 30"			S3-1: School Bus Stop Ahead HIP F/Y (MOD) 30" x 30"			S4-1 ___ a.m. to ___ p.m. 30" x 12"			S4-2: When Children are Present 24" x 10"			S4-3 School (FYG) 30" x 12"			S4-3 School (FYG) 36" x 12"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$27.69	10	\$276.90	\$12.18	10	\$121.80	\$7.74	10	\$77.40	\$18.64	10	\$186.40	\$22.37	10	\$223.70
Shannon-Baum Signs, Inc.	\$39.00	10	\$390.00	\$39.00	10	\$390.00	\$20.00	10	\$200.00	\$20.00	10	\$200.00	\$30.00	10	\$300.00	\$35.00	10	\$350.00

BID COMPARISION SPREADSHEET

Page 10

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	S4-4(2): Fines Double School Hours 30" x 30"			S4-4(5) Fines Double 30" x 15"			S4-5: School Speed Reduction 48" x 48"			S4-5: School Speed Reduction 36" x 36"			S5-1: Pictured HIP F/Y B/W (MOD35) 24" x 48"			S5-2 End School Zone 24" x 30"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$14.52	10	\$145.20	\$71.02	5	\$355.10	\$39.87	5	\$199.35	\$35.41	5	\$177.05	\$22.19	10	\$221.90
Shannon-Baum Signs, Inc.	\$38.00	10	\$380.00	\$25.00	10	\$250.00	\$110.00	5	\$550.00	\$55.00	5	\$275.00	\$95.00	5	\$475.00	\$30.00	10	\$300.00

Bidding Firm	S5-2- Drug Free School Zone 30" x 30"			N-10 No Thru Traffic 18" x 24"			N-11 Slow Sign 30" x 30"			OM-3 L/R Yellow/Black Object Marker - 12" x 36"			OM-3 L/R: Hearing Impaired Child in Area (30" x 30"			Begin County Maintenance 12" x 12"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$27.69	10	\$276.90	\$13.29	10	\$132.90	\$27.69	10	\$276.90	\$13.29	10	\$132.90	\$27.69	10	\$276.90	\$5.32	50	\$266.00
Shannon-Baum Signs, Inc.	\$38.00	10	\$380.00	\$20.00	10	\$200.00	\$38.00	10	\$380.00	\$20.00	10	\$200.00	\$38.00	10	\$380.00	\$16.00	50	\$800.00

Bidding Firm	CCPT Bus Stop 12" x 18"			End County Maintenance 12" x 12"			No Dumping \$500 Fine 24" x 18"			No Littering \$500 fine 18" x 24"			No Littering \$500 Fine 24" x 30"			Prjvate Property 12" x 18"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$7.29	10	\$72.90	\$5.32	50	\$266.00	\$13.29	50	\$664.50	\$13.29	50	\$664.50	\$22.19	50	\$1,109.50	\$6.41	50	\$320.50
Shannon-Baum Signs, Inc.	\$18.00	10	\$180.00	\$16.00	50	\$800.00	\$18.00	50	\$900.00	\$18.00	50	\$900.00	\$30.00	50	\$1,500.00	\$18.00	50	\$900.00

BID COMPARISION SPREADSHEET

Page 11

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	No Trespassing 12" x 18"			Private Road 18" x 18"			No County Maintenance 12" x 12"			Do Not Block Driveway, Black on White - 24" x 30"			Otter Sign HIP B/Y 30" x 30"			Watch For Turning Vehicles HIP B/Y 36" x 36"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$6.41	50	\$320.50	\$10.92	50	\$546.00	\$5.32	50	\$266.00	\$22.19	50	\$1,109.50	\$27.69	10	\$276.90	\$39.87	10	\$398.70
Shannon-Baum Signs, Inc.	\$18.00	50	\$900.00	\$20.00	50	\$1,000.00	\$16.00	50	\$800.00	\$30.00	50	\$1,500.00	\$39.00	10	\$390.00	\$55.00	10	\$550.00

Bidding Firm	STOP/SLOW Paddle w/6' Staff 24"			9-Button Delineator (Sign) 18" x 18"			Delineators (Yellow One Side) HI 6" x 12"			1.33 lb. Delineator Posts Galvanized 7'			Safety Hit Delineator 36"			Safety Hit Delineator 42"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$42.21	20	\$844.20	\$12.29	10	\$122.90	\$3.15	40	\$126.00	\$11.03	50	\$551.50	\$24.28	25	\$607.00	\$28.32	25	\$708.00
Shannon-Baum Signs, Inc.	\$80.00	20	\$1,600.00	\$50.00	10	\$500.00	\$10.00	40	\$400.00	\$18.00	50	\$900.00	\$50.00	25	\$1,250.00	\$55.00	25	\$1,375.00

Bidding Firm	Safety Hit Delineator 48"			High Visibility Fluorescent Cones w/ 2 Reflectives - 28"			High Visibility Fluorescent Cones w/2 Reflect. - 36"			Quick Disconnect Stop/Slow Paddles-24" x 24" w/12" handle			Reflective Orange Roll-Up Signs (Var. Word) 48"x48"			5012SS Sign Stands Holds Sign 12" from Ground		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total
Garden State Highway Products, Inc. ¹	\$29.89	25	\$747.25	\$13.21	50	\$660.50	\$16.12	50	\$806.00	\$56.41	10	\$564.10	\$96.20	20	\$1,924.00	\$92.40	10	\$924.00
Shannon-Baum Signs, Inc.	\$60.00	25	\$1,500.00	\$40.00	50	\$2,000.00	\$45.00	50	\$2,250.00	\$125.00	10	\$1,250.00	\$195.00	20	\$3,900.00	\$195.00	10	\$1,950.00

BID COMPARISION SPREADSHEET

Page 12

BID NUMBER - PURCH 2015-094 - TRAFFIC CONTROL DEVICES AND ASSOCIATED MATERIAL

Bidding Firm	Street Name Sign Blank (Hi-Intensity) 24" x 9"			Street Name Sign Blank (Hi-Intensity) 30" x 9"			Street Name Sign Blank (Hi-Intensity) 36" x 9"			Street Name Sign Blank (Hi-Intensity) 42" x 9"			Street Name Sign Blank (Hi-Intensity) 48" x 9"			Street Name Sign Blank (Prismatic) 24" x 9"		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total												
Garden State Highway Products, Inc. ¹	\$12.06	100	\$1,206.00	\$15.09	100	\$1,509.00	\$18.10	100	\$1,810.00	\$21.09	100	\$2,109.00	\$24.02	100	\$2,402.00	\$16.91	25	\$422.75
Shannon-Baum Signs, Inc.	\$19.00	100	\$1,900.00	\$22.00	100	\$2,200.00	\$26.00	100	\$2,600.00	\$31.00	100	\$3,100.00	\$33.00	100	\$3,300.00	\$39.00	25	\$975.00

Bidding Firm	Street Name Sign Blank (Prismatic) 30" x 9"			Street Name Sign Blank (Prismatic) 36' x 9"			Street Name Sign Blank (Prismatic) 42" x 9"			Street Name Sign Blank (Prismatic) 48" x 9"			Post Cap 2 3/8" Round 5.25" Slot			Post Cap Square 5.25" Slot		
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total									
Garden State Highway Products, Inc. ¹	\$21.12	25	\$528.00	\$25.32	25	\$633.00	\$29.54	25	\$738.50	\$33.79	25	\$844.75	\$3.21	25	\$80.25	\$3.21	25	\$80.25
Shannon-Baum Signs, Inc.	\$42.00	25	\$1,050.00	\$46.00	25	\$1,150.00	\$51.00	25	\$1,275.00	\$53.00	25	\$1,325.00	\$10.00	25	\$250.00	\$10.00	25	\$250.00

Bidding Firm	Post Cap 2 3/8" Round 12" Slot			Post Cap Square 12" Slot			No Crossover Sign Holder 5.25" Slot			Crossover Sign Holder 12" Slot			Chevron Adjustable Brackets			Total Lump Sum Based on Estimated Quantities
	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	Unit Price	Est. Qty	Total	
Garden State Highway Products, Inc. ¹	\$8.12	25	\$203.00	\$8.12	25	\$203.00	\$3.21	25	\$80.25	\$8.12	25	\$203.00	\$33.29	25	\$832.25	\$80,426.49
Shannon-Baum Signs, Inc.	\$20.00	25	\$500.00	\$20.00	25	\$500.00	\$10.00	25	\$250.00	\$20.00	25	\$500.00	\$45.00	25	\$1,125.00	\$127,089.00

¹Exception - Items not in stock delivery 21-30 days ARO